= AH O
N = 0 &8 AF S & Al A
20008 =4 1 3 Lot SollS ~ S0s
2 EolS
A E0lS SEHHUAS2Z (LS SHEY/YBEY)

Sl =058 HE D (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
sollsS 1,265,985 1,239,596 26,389
s SR (LtssHY/ABET) 601,664 572,762 28,902

Folgg #HECR 499,868 483,733 16,135
g HERH 66, 104 69, 104 23,000

401 Al&HIL 20 27,000 30,000 23,000
01 Al&H| 27,000 30,000 /3,000
OZ FASEA WES ZAHEZD)
23 17,600,000 17,600 20,000 A2,400
O HAMU HSSAM(EZ) JE 9,400,000 9,400 10,000 AB00
23 249 216,914 197,779 19,135
401 Al&HI L 20 29,400 10,000 19,400
01 Al&H| 29,400 10,000 19,400
OEMNEE=2XNRHEH SEELSAHED)
AA 9,400,000 9,400 10,000 A600
OZMNES=2XN2HHE HIISEZA
20,000,000 14! 20,000 0 20,000
405 XHoHF SHI 5,335 5,600 265
01 AL ESEFSH| 5,335 5,600 A 265
O = E2HAIE ME(EZ)
ZA 453,750 x40 A 1,815 2,000 A 185
O15 AIRA &7 2¢ 520 600 A80
-3lolg o XH(EZ) 2 80,0002 =44 320 400 A80
st MEstH X4 101,796 89,029 12,767
MESHE A 89,983 77,216 12,767
101 o1 21| 65,183 56,016 9,167
10 JIZHMIZ22Hs2E 4+ 65,183 56,016 9,167
O=2H std-H ¢ EHI 2 (LXtel =
E) 9,167 0 9,167
-0l 33,500 x5H x50 8,375 0 8,375
-“AEE J|I2Re2 8,375,000 9. 45% 792 0 792
201 LBt AH| 24,800 21,200 3,600
01 AFR22(H] 24,800 21,200 3,600
O6.d Xtz 24,800 21,200 3,600
-HAQIE 2t0| B3 &EA dX
Z3X 1,800,000 «6& 10,800 7,200 3,600
ElS KNYHLAIL(ZELXHIHE/XSL Al 230,202 232,232 2,030
XS0 AY 230,202 232,232 22,030
AR SAS IR 170,202 172,232 A2,030
401 AlEHIZE20UI 170,202 172,232 A2,030
01 Al&HI 168,970 171,000 A2,030




oF
R’

ok
ol

ok

i
)l
=<
0D
w_m =
oK
81 4
= al
[m]
0D 0ID KF
==

0l 0o =

SN
X ZH

.ﬁ
0

=g

(e} Al Q (=) o [ep] [ep] [ep] o ™ [ep]
— o < < o [ee] [ee] [ee] [ee] [ee] [ee]
Ye) <t @ Yo} N < < < < < <
. < < N < dl <l <] gl << <
Klo
E
D
o o o o o [N} [ep] o o o (e}
o o o [«] o (e} [a\} (@] (e} o o
S & & & S|l |N|N|la(a S
7o) o o o | || | ] ™
— — — — [ap) © — — —
3 ¥
K0
m
o [e 0] [N} (e} o (e} (e} N~ N~ [ [
o) O 0 O S|l =l - 11— —
~ o © < QO — | N[~ SN L
<t ()] (o)) (o)) [ep] <t [ep) — — — (V)
— o [de) — — —
< (<p]
3
<
=
—~ o ou U W <o U
NS 8 ~8 ~8 M8 S
RS ~S A e RS <
i |1=8 #H8 mY m38 W ©
X0 EN e —© =¥ «Q 0
o Ki — — :_o
1 = ._uo Ye) ._lo Y] ._.o O._ ...o ._lo
ol fzm o 2N 2n -
< |Ho = = = e o
I | = A M = m___
= | M R R W £
Doy ®OOH Hoo o~ ol
T
~la ®T & w W |= i
O =7 1T R < V< VR = T 0
o fon <~ om om . o ur &
— - = s - ol ~ — —
—_— [=) E=) [a=) =) - — D K M
Sl & = = ~_|w ur{ = |#0 Hl
. x - o~ ™ aﬂ._”_/ = RELUC O oA
S O o | ® |k O
"o lor o0 oz 3 ofR | || o
R |0 O O O O |= L == 0
. RO =T A P
< B(R|I|L(°
I+ U T
RO | =
w0




SN A

HE: AP0 SEUTLY (YT /ABHE)

el FRISHE BECD (el &
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Foigle HEE P 123,556 117,088 6,468
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101 Q14 31,817 22,650 9,167
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OL2Y sFHY ¥ EHIJ| 2d(LXtel &
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“AUEE Jp2g=2 8,375,000 9. 45% 792 0 792
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401 Al&HILLHY] 76,333 80,720 A4,387
01 Al&H] 75,613 80,000 A4,387
OAtH12| D2t sh4==&XI(L=100m)(E )
ZA 18,412,000 18,412 20,000 A1,588
OJigel ookl A (L=100m) (&)
23X 18,651,950 18,652 20,000 1,348
Og=2022 H2ATH L FH=T A X (L=100m) (X
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F0I5tE HEER 160,176 160,376 A 200
XNoA235 29 43,324 43,524 A 200

401 Al&HI LY 9,800 10,000 A 200
01 Al&H] 9,800 10,000 A200
O239 & 2z HSAIE Ax(22)
A3 9,800,000 9,800 10,000 A 200
EE MESH XA 42,536 33,369 9,167
A 55124 F H| 35,484 26,317 9,167
101 Q14 35,484 26,317 9,167
10 JIZH22AEES 35,484 26,317 9,167
OE2Y SHAH L EHID| 1A (X2l &
£) 9,167 0 9,167
-olg ol 33,500 *52 x50 8,375 0 8,375
-“ABE Jjaeg= 8,375,000 %9, 45% 792 0 792
DA NGMUA(2ELXGNY/NILUEA|) 138,810 140,810 A2,000
X012 ALY 138,810 140,810 A2,000
22X S AS R 88,810 90,810 A2,000
401 Al&HI LS 88,810 90,810 A2,000
01 Al&H] 88,000 90,000 22,000
OHERl AW JNHBAF 24 (B 2)
23 14,500,000 14,500 15,000 A500
OJtet2e| OIS&IQ 2 S I AH(L=40M)(E )
23 9,500,000 9,500 10,000 A500
OJIeH2| (2F4H) U2 & X (L=300M) (22
) 23 19,700,0002 19,700 20,000 A300
O#UI12I(EKEL) D2t EE(L=100) (&
2 Z& 9,800,000 9,800 10,000 A 200
OLHE22] Ot26tEE A X ZAHL=150M) (B 2H)
2 14,800,000 14,800 15,000 A 200
OgHE A" U BH(H2)
23 19,700,000 19,700 20,000 A300
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=xd 531,943 518,026 13,917
=N ST (U DDA /UBHE) 198,640 181,423 17,217

=0I5HE HECD 131,171 123, 121 8,050
Z5 HE2Y 25,386 22,836 2,550

401 AlEHIL 20 9,550 7,000 2,550
01 Al&H] 9,550 7,000 2,550
OFMN(ZEH M2EZTA HOZXF2) 2
o &x 850,000 x34! 2,550 0 2,550
NE235 29 25,095 19,595 5,500
101 @124 H] 12,834 7,334 5,500
10 JIZtH22XSE 2 12,834 7,334 5,500
Oa=2Lo=2x 52 2elelee
33,5000« 12150 5,025 0 5,025
O4UEE |2 5,025,000 %9 . 45% 475 0 475
WEE MBEH X4 67,469 58,302 9,167
A &3 R H| 60,417 51,250 9,167
101 @124 H| 60,417 51,250 9,167
10 JIZHH22XSE 2 60,417 51,250 9,167
OL24H FEH 2 EHID A (Ll &
£) 9,167 0 9,167
ol 33,5002 52«50 8,375 0 8,375
“AEE JjaRg=2 8,375,000 %9 45% 792 0 792
HH2AZHI(SEH)(IIEHIIEH 202,583 205,883 A3,300
J| =2 173,156 176,456 A3,300
A2 X O H 60,060 63,360 A3,300
202 O4H] 60,060 63,360 23,300
02 2 oM0iH] 60,060 63,360 23,300
OFHNHH|I(EZ)
2 (330,00024+15H 122 + 330,000 «1%* 60,060 63,360 A3,300
2g)
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SE HE2S 21,206 21,900 A6
401 Al&HIZL=ROHYI 9,306 10,000 A6
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OHAIRA HASM(EZY) ZH 9,306,000 9,306 10,000 A 694
ANA2s 24 30,831 23,097 7,734
101 Q14| 20,619 16,585 4,034
10 JIZHMIZ22XEE =+ 20,619 16,585 4,034
ogg=EXsla da AR
2 & 33,5003 «1H 2602 - J|&E 5,025,000 3,685 0 3,685
O4UEE 223 3,685,000 *9.45% 349 0 349
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SSsUSMAZ MBS AL
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405 XtobE SHI 900 700 200
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101 el 31,817 22,650 9,167
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Oc=d sZZHl & EHID AR (LXel &
E) 9,167 0 9,167
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01 Al&H| 74,174 80,000 N5,826
OYH-E dd L B(3)
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OE312] s2E&(L=200m) (B &)
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SEEREEERTIEED
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